% VCE & PDF https://lwww.geekcert.com/e20-895.html
' 2024 Latest geekcert E20-895 PDF and VCE dumps Download
2 GeekCert.com

E20-895%4As

Backup Recovery - Avamar Expert Exam for Implementation Engineers

Pass EMC E20-895 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/e20-895.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest E20-895 Dumps | E20-895 Practice Test | E20-895 Study Guide 1/3


https://www.geekcert.com/e20-895.html
https://www.geekcert.com/e20-895.html
https://www.geekcert.com/e20-895.html

VCE & PDF https://lwww.geekcert.com/e20-895.html
2024 Latest geekcert E20-895 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

You are adding a deduplication node to a customer\\'s EMC NetWorker environment. The NetWorker clients currently
back up to tape and perform full backups on Sunday and incremental backups on the other days of the week. In the new
solution, all clients will back up to the deduplication node. The speed of recovery and higher deduplication rates are
important to the customer. Which NetWorker schedule is recommended?

A. Full backups on Sunday and incremental backups on other days of the week

B. Incremental backups every day

C. Full backups every day

D. Initial full backup followed by incremental backups

Correct Answer: C

QUESTION 2

A customer is using an EMC Avamar server to backup SQL databases. They often have a need to perform redirected
recoveries of these databases to a different server. They are challenged by the fact that the storage layout on the
recovery server does not always match the original backup causing the recovery to fail. What is the most efficient
method to overcome their challenge?

A. Perform a file system recovery of the -0 file and use SQL Server Manager to manually adjust the layout

B. Ensure the recovery server storage is provisioned to match the backup prior to initiating the recovery

C. Ensure all SQL databases share a common storage layout

D. Perform the recovery as a database using SQL Server Manager to optionally adjust the layout to match that of the
recovery server

Correct Answer: A

QUESTION 3

A customer is re-purposing a Dell EMC Avamar server to perform full backups of a new set of clients. The clients are
remote and are most busy overnight. The customer notices a reduction in the backup performance compared to the
previous configuration.

How can the customer improve Avamar client backup performance?

A. Modify Include/Exclude lists to name individual files, not directories

B. Use the --avtar option --network-throttle

C. Work with the network admin to increase latency

D. Modify the Avamar server\\'s backup window to run during the day
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Correct Answer: B

QUESTION 4

An EMC customer wants to implement a backup solution for their virtual machines. They are interested in Avamar
dedu_plication features. In addition, they want to minimize the backup capacity required. Their ESX environment is
running

optimally with sufficient resources.

Which VMware backup method will provide the most optimized capacity?

A.VCB

B. Guest level

C. Image level with CBT

D. Image level without CBT

Correct Answer: B

QUESTION 5

A customer is successfully running full backups of their Oracle database nightly. They have decided that they need to
start backing up the database at Level 1 during the week. They change the dataset to start performing Level 1 backups;
however, the next backup ran as long as a full backup. What would have caused this to happen?

A. A Level 0 backup had to be performed prior to a Level 1 backup being run.

B. The database is not configured to allow Block Change Tracking.

C. The amount of data changed in the database is too large for a Level 1 backup to be performed.

D. Oracle does not support Level 1 backups after a full backup.

Correct Answer: A
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